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Discussion and Decision
1.
Introduction
In RAN#46, the WI on 4C-HSDPA was approved, and RAN1 has discussed CPC operation for 4C-HSDPA from then on. This paper discusses whether any change is needed in DRX operation for 4C-HSDPA compared with DC-HSDPA.
2.
Discussion
In DC-HSDPA, common DRX operation is applied to both carriers with common DRX configuration. When DRX is active, the UE monitors all HS-SCCHs of two carriers at configured sub-frames, and if the UE receives a HS-SCCH on one of carriers, the UE stops DRX mode and starts monitoring all HS-SCCHs of both carriers continuously. 
In order to monitor HS-SCCH, a receiver chain should be turned-on for each frequency band. However, since two carriers are configured in the same frequency band, only a single receiver chain should be sufficient for DC-HSDPA. Therefore, the common DRX operation is easily applied in DC-HSDPA.
On the other hand, in 4C-HSDPA, it is possible that carriers are configured in different frequency bands. Then, whether the common DRX operation could also be applied to 4C-HSDPA should be discussed. Depending on the configuration, there are two cases to be considered.
· Case1: Carriers are configured in the same frequency band.
If all carriers are in the same frequency band, there is no difference compared with DC-HSDPA from the DRX point of view, except that configured carriers are extended to 4. Therefore, a single receiver chain should be sufficient, and the common DRX operation is easily applied like DC-HSDPA.

· Case2: Carriers are configured in the different frequency bands.
If carriers are configured in the different frequency bands, it is difficult to apply the common DRX operation to all carriers. In this case, DRX operation should be applied at least per frequency band. However, it should be noted that the network is able to dynamically activate/de-activate secondary carriers. If there is a small amount of data, then the network would de-activate the carriers (except primary carrier) rather than apply the DRX. Therefore, carriers with different frequency bands don’t need to be considered for DRX operation.
Based on the above observations, we think that common DRX operation applied for DC-HSDPA is also applied for 4C-HSDPA without any changes.
3.
Proposal
In this contribution, we discussed the DRX operation for 4C-HSDPA. It is proposed:
Proposal : Common DRX operation applied for DC-HSDPA is applied for 4C-HSDPA without any changes. 
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